
Fortinet Rack Mount Tray
SP-RACKTRAY-02
QuickStart Guide



3

May 25, 2022

Copyright© 2022 Fortinet, Inc. All rights reserved. Fortinet®, FortiGate®, FortiCare® and FortiGuard®, and certain other marks are registered 
trademarks of Fortinet, Inc., in the U.S. and other jurisdictions, and other Fortinet names herein may also be registered and/or common law 
trademarks of Fortinet. All other product or company names may be trademarks of their respective owners. Performance and other metrics 
contained herein were attained in internal lab tests under ideal conditions, and actual performance and other results may vary. Network 
variables, different network environments and other conditions may affect performance results. Nothing herein represents any binding 
commitment by Fortinet, and Fortinet disclaims all warranties, whether express or implied, except to the extent Fortinet enters a binding 
written contract, signed    by Fortinet’s General Counsel, with a purchaser that expressly warrants that the identified product will perform 
according to certain expressly-identified performance metrics and, in such event, only the specific performance metrics expressly identified 
in such binding written contract shall be binding on Fortinet. For absolute clarity, any such warranty will be limited to performance in the same 
ideal conditions as in Fortinet’s internal lab tests. In no event does Fortinet make any commitment related to future deliverables, features or 
development, and circumstances may change such that any forward-looking statements herein are not accurate.  Fortinet disclaims in full 
any covenants, representations, and guarantees pursuant hereto, whether express or implied. Fortinet reserves the right to change, modify, 
transfer, or otherwise revise this publication without notice, and the most current version of the publication shall be applicable.

For Product License Agreement / EULA and Warranty Terms, visit https://www.fortinet.com/content/dam/fortinet/assets/legal/EULA.pdf

Device Compatibility

Model Type Supported Devices

FortiGate 30D Tray Mount (Plastic Housing) 2

FortiGate 30D-POE Tray Mount (Plastic Housing) 2

FortiGate 30E Adapter Bracket 2

FortiGate 40F Adapter Bracket 2

FortiGate 50E/51E Adapter Bracket 2

FortiGate 60D Adapter Bracket 2

FortiGate 60D-POE Adapter Bracket 2

FortiGate 60E/61E Adapter Bracket 2

FortiGate 60E-POE Adapter Bracket 2

FortiGate 60F/61F Adapter Bracket 2

FortiGate Rugged 60F Tray Mount 2

FortiGate 70D Tray Mount 1

FortiGate 70D-POE Tray Mount 1

FortiGate 80D Tray Mount 1

FortiGate 80E/81E Adapter Bracket 2

FortiGate 80E-POE Adapter Bracket 2

FortiGate 81E-POE Adapter Bracket 2

FortiGate 80F Adapter Bracket 2

FortiGate 90D Tray Mount 1

FortiGate 90D-POE Tray Mount 1

FortiGate 90E Tray Mount 1

FortiGate 90E-POE Tray Mount 1

FortiGate 91E Tray Mount 1

FortiGate 92D Tray Mount 1

FortiSwitch 108E Tray Mount 1

FortiSwitch 108F Adapter Bracket 2

FortiVoiceEnterprise 100E Tray Mount 1

FortiRecorder 100D Tray Mount 1



54

The Essentials

For getting started guides, setup and configuration information, refer to the 
Admin Guides on https://docs.fortinet.com/

For contracts, licensing, product registration and account management, 
contact FortiCare Support at https://www.fortinet.com/support/contact

Access our knowledge base, forums, videos and technical experts at  
https://www.fortinet.com/support/support-services/forticare-support

Admin Guide

Customer Service

Self-service Resources

Thank you for choosing Fortinet

Package Contents
Fortinet Rack Mount Tray 
SP-RACKTRAY-02

Fortinet Rack Mount Tray

8x Cable Ties

20x Various Philips M3/M4 Screws 4x Hex Screws

4x Shoulder Screws8x Rubber Feet

2x Grounding Wires

2x Adapter Brackets

QuickStart Guide



76

Installation

Optional: Secure device by using the provided 6mm M3 flathead 
screws or 3.5 M2.5 D4 shoulder slotted (FG-80E) screws

Plastic Housing Devices

Tray Mount

1

1

2

2

Before you begin, power off and disconnect the device; if rubber feet are 
attached, remove them.

Attach three rubber feet next to the screw holes.

Place device to one side of the tray above the tray magnets.

Secure device to the rack tray using two 8mm M3 flathead screws.

Attach provided grounding wire to the back of the device.

Rubber Feet



98

Adapter Bracket

1

3

2

Insert two hex screws into the bracket (FG-60D Series).

Place device to one side of the tray above the tray magnets.

Place the device onto the adapter bracket which uses magnets to 
secure the device.

Note: The Kensington security slot on the device is not available when 
the device is installed in the adapter bracket

Before you begin, power off and disconnect the device. If applicable, 
remove the four 4mm M3 screws from the sides of the device. Note, the 
adapter bracket will not fit devices wider than 216mm (8.5in).

Optional: If applicable, secure the device sides to the bracket using four 
6mm M3 flathead screws or use up to two screws to secure the bottom

4 Attach provided grounding wire from the back of the device to the rack 
mount using a 6mm M3 panhead screw.

Optional: Secure the device bottom with 6mm M3 flathead screws

2 Screws

1 Screw



1110

Rack Installation

Caution: To avoid personal injury or damage to the device, we recommend 
that two people mount the rack tray on a rack

1

2

4

5

3

Level and line up the rack mount tray ear holes with the rack holes.

Finger tighten four rack screws from the rack tray to the rack.

Tighten the rack screws using a screwdriver.

Connect the power and network connections, then secure the power 
adapter device using the provided cable ties.

Verify that the device is level and there is 1.5 inches of space above 
and below the device for adequate air flow.



Fortinet.com

http://www.fortinet.com

